[TPUHATO

Ha ﬂeﬂ,aFOFHLIC,CKOM COBETEC

[TpoTokos OT 4 B‘]q F) 2025r. No F)‘
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=
Z 19.00-9.10 9.00 - 9.10 9.25-9.40 9.20-9.35 9.55- 10.10 9.50-10.10 10.25-10.45 10.25-10.50 CoBmecTHas
S | O0 «X-OP» OO0 «DP» 00 «X-2P» 00 «DP» 00 «X-DOP» CoBMecTHas OO0 «DP» OO0 «DP» 00 «X-DP» EATEILHOCTD
§ Mys3bikanbHOE ®u3kynbTypHoe | Mys3blKajibHOE Ou3kynbTypHoe | My3bIKanbHOE neatenbHocTh | Ou3KyJIbTypHOe | Du3KynbTypHOe | Mys3bIKanbHOE
e
2 9.00-9.10 9.00-9.10 9.20-9.35 9.25-9.40 9.45 - 10.00 9.55-10.15 CoBMecTHasl 10.30 - 10.55 10.15-10.40 11.00-11.30
z 00 «DP» 00 «X-3P» 00 «DP» 00 «X-2P» 00 «DP» 00 «X-OP» nesrenbHOCTh | OO «X-DOP» 00 «DP» 00 «X-2P»
S ®u3kynbTypHoe | My3bIKanbHOe Ou3kynbTypHoe | Mys3bIKallbHOE DuU3KyIbTYpPHOE Mys3bikajlbHOE My3bikalibHOE ®uskynpTypHOoe | My3blKkaabHOE
/m
s 9.00-9.10 CoBMecTHas 9.10-9.25 9.40 - 9.55 9.25-9.40 10.10 - 10.30 10.00 - 10.25 10.40-11.05 CoBMecTHas 11.10—11.35
X 00 «X-2P» nestenbHocTh | OO «@P» 00O «DP» 00 «X-OP» 00 «DP» 00 «X-2OP» 00 «DP» nestenbHocTh | OO «DP»
2 | My3bikanbHoe ®uskynbTypHoe | Ou3KyIbTypHOE | My3sbikalbHOE Ou3kynbTypHoe | My3bIKallbHOE DuU3KyIbTYpHOE Du3KyJIbTypHOE
QE). 9.00-9.10 9.00-9.10 9.25-9.40 CoBMecTHast CoBMecTHasl 9.55-10.15 9.20-9.45 10.25-10.50 10.00 - 10.25 11.00-11.30
2 | OO «DP» 00 «X-2P» 00 «X-2P» JeATeNbHOCTD JIeSITeNIbBHOCTh 00 «X-2P» 00 «DP» 00 «X-2OP» 00 «DP» 00 «X-2P»
Y | ®uskyabTypHoe | Mys3bikajibHOE Mys3bIKabHOE Mys3blKkallbHOE ®uzkynbTypHOE | My3biKajibHOE Ou3kynbTypHOE | My3bIKanbHOE
< . 10.10 - 10.35
= CoBMecTHas 9.00-9.10 CoBMecCTHas 9.00-9.15 9.20-9.35 9.50-10.10 9.30-9.55 CoBMecTHas 00 «X-7Py 10.25-10.50
5 nesitensHocTh | OO «DP» nearenbHocTh | OO «X-OP» 00 «DP» - 00 «DP» 00 «X-2OP» NesTeIbHOCTb 00 «DP»
= b M @ & M Mys3bikanbHOE
8 U3KYJIbTYpHOE y3bIKaJIbHOE U3KYJbTYPHOE U3KYJIbTYpHOE y3bIKaJIbHOE OU3KYyAbTYpHOE
== L= g -




